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IET 30800
Engineering Project Management & Economic Analysis 
Assignment 2
Fall 2016

· Show your work when doing calculation and also, draw a cash flow diagram for each question. Type formulas and make sure in include units. Alternatively, you can write your answer and either scan it or take a picture and insert it into a Word document.
· Submit the assignment in Black Board only (Only MS Word or PDF file. Don’t use the textbox in Blackboard to write your answers). No in-class submission.
Due: Tuesday, 09-06-16, by class time in Blackboard
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[bookmark: _GoBack]Discuss the ethical issues with this scenario for Jamie, Carol, and Burris’ management. Refer to the NSPE Code of Ethics for Engineering found in Blackboard under Lectures.
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Because market interest rates were near all-time
lows at 4% per year, a hand tool company decided
to call (i.e., pay off) the high-interest bonds that it
issued 3 years ago. If the interest rate on the bonds
was 9% per year, how much does the company
have to pay the bond holders? The face wvalue
(principal) of the bonds is $6,000,000.
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The National Highway Traffic Safety Administra-
tion raised the average fuel efficiency standard to
35.5 miles per gallon for cars and light trucks by
the year 2016. The rules will cost consumers an
average of $434 extra per vehicle in the 2012
model year. If a person purchases a new car in
2012 and keeps it for 5 years, how much must be
saved in fuel costs each year to justify the extra
cost? Use an interest rate of 8% per year.
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Western Hydra Systems makes a panel milling ma-
chine with a 2.7-m-diameter milling head that
emits low vibration and processes stress-relieved
aluminum panels measuring up to 6000 mm long.
The company wants to borrow money for a new
production/warehouse facility. If the company of-
fers to repay the loan with $60,000 in year 1 and
amounts increasing by $10,000 each year through
year 5, how much can the company borrow at an
interest rate of 10% per year?
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Determine the difference in the present worth val-

ues of the following two commodity contracts at
an interest rate of 8% per year.

Contract 1 has a cost of $10,000 in year 1; costs
will escalate at a rate of 4% per year for 10 years.
Contract 2 has the same cost in year 1, but costs
will escalate at 6% per year for 11 years.
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Jamie is an engineer employed by Burris, a United States—based company that develops sub-
way and surface transportation systems for medium-sized municipalities in the United States
and Canada. He has been a registered professional engineer (PE) for the last 15 years. Last
year, Carol, an engineer friend from university days who works as an individual consultant,
asked Jamie to help her with some cost estimates on a metro train job. Carol offered to pay for
his time and talent, but Jamie saw no reason to take money for helping with data commonly
used by him in performing his job at Burris. The estimates took one weekend to complete, and
once Jamie delivered them to Carol, he did not hear from her again; nor did he learn the iden-
tity of the company for which Carol was preparing the estimates.

Yesterday, Jamie was called into his supervisor’s office and told that Burris had not received
the contract award in Sharpstown, where a metro system is to be installed. The project esti-
mates were prepared by Jamie and others at Burris over the past several months. This job was
greatly needed by Burris, as the country and most municipalities were in a real economic
slump, so much so that Burris was considering furloughing several engineers if the Sharpstown
bid was not accepted. Jamie was told he was to be laid off immediately, not because the bid was
rejected, but because he had been secretly working without management approval for a prime
consultant of Burris” main competitor. Jamie was astounded and angry. He knew he had done
nothing to warrant firing, but the evidence was clearly there. The numbers used by the com-
petitor to win the Sharpstown award were the same numbers that Jamie had prepared for Burris
on this bid, and they ciosely matched the values that he gave Carol when he helped her.

Jamie was told he was fortunate, because Burris’ president had decided to not legally charge
Jamie with unethical behavior and to not request that his PE license be rescinded. As a result.
Jamie was escorted out of his office and the building within one hour and told to not ask anyone
at Burris hu a rctcume letlcr if he .mtmpted to get another engineering job.




